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BT iE
al2 = 0.440 x 0.260
— 1/2 x ( 0.1056 + 0.155 ) x 0.050 2 = 0.1014 m
al3 = 1/2 x ( 0.870 + 1.770 ) x 0.090 x 2 = 0.2376 n
1) R a—ALA
a) 145Xy
vi = 0.1014 x 7.860 + 0.2376 x 0.340 = 0.878 m
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V = 0.878 x 48 = 42,144
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— 1/2 x ( 0.1056 4+ 0.155 ) x 0.050 x 2 = 0.1131 m
al3 = 1/2 x ( 0.870 + 1.770 ) x 0.090 x 2 = 0.2376 n
1) R a—ALA
a) 145Xy
vi = 0.1131 x 7.860 + 0.2376 x 0.385 = 0.980 m
b) &5t
V = 0980 x 54 = 52,920 m
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al3 = 1/2 x ( 0.870 + 1.770 ) x 0.090 x 2 = 0.2376 n
1) RYa—L
a) 145Xy
vl = 0.1014 x 7.860
+ 1/2 x ( 0.2376 + 7.860 x 0.090 )
x 0.340 = 0.958 m
b) &%t
V = 0.958 x 1 = 0.958 m
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1) R a—ALA
a) 145Xy
vi = 0.1014 x 7.860 + 0.2376 x 0.340 = 0.878 m
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V = 0.878 x 30 = 26.340
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1) R a—ALA
a) 145Xy
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x 0.340 = 0.958 m
b) &%t
V = 0.958 x 1 = 0.958 m
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1.5 28y RSRULAASBaY S Y—k  ( ock=b0N/mm’ ) : Bk, s+

270 140 270
<4005 H
= 3 h 0.0336 m?
\ ° e U <0.0518>
337 | 200 207
207 / 330 337
200 70
23305 o ~
i 0.0129 m? i 0.0147 m?
<0. 0220> <0. 0247>
400 140 400
s =
o 8 0.0518 m?
279 1 330 372
330
2,7 N :
0.0220 m? 0.0390 m?
140
H 140 11 77
g
1 0.0154 m? 0.0099 m? 0.0038 m?
V = (BHRORE Y FORILAFAERSEY)
= 0033 x 63 4+ 0052 x 2 + 0031 x 10
+ 0033 x 26 + 0.052 x 12
+ 0031 x 6 4+ 0.050 x 8
+ 0.033 x 6 + 0031 x 2
+ 0.052 4+ 0.052 4+ 0.044 + 0.055 = 5024 m
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1.7-1 #EaE-1 ( S1,S1-M, S2,S3. S3-M, SH3, SH3-M. SH4 )  (N= 78 ~FF)
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M
- | |
2 | |
5 770 50 5 770 50
795 450 870 450 2730 450 870 450 795
1680 4500 1680
1 -1
440
g i3——al2
50 /340,50
W A
al2 = (avy)—rEREELY) = 0.1014 m
A E
L5 = 7.860 — 0.450 x 4 + 0.459 x 4
— 0.770 x 2 = 6.356 m
1) =
Al = 0.1014 x 2 = 0.203 m?
2) ER
A2 = 6.356 x 0.340 = 2.161 m
3) &t
a) 17rHyY
A= A 4+ A2 = 2.364 m’
b) &%
SA = 2.364 x 78 = 184.392 m?
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1.7-2 #E8E-2 ( S5, S5-M. SH6. SH6-M ) (N= 56 #FF)
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795 450 3870 450 2730 450 870 450 795
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1 -1
485
g e
Pt [ |
50/| 385 |50
BT iE
ald = (avy)—rHEEELY) = 0.1131 m?
A &
L5 = 7.860 — 0.450 x 4 + 0.459 x 4
— 0.770 x 2 = 6.356 m
1) E#
Al = 0.1131 x 2 = 0.226 m
2) ER
A2 = 6.356 x 0.385 = 2.447
3) /A&t
a) 15Ty
A= Al 4+ A2 = 2.673 m
b) &%t
SA = 2673 x 56 = 149.688 m’
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R
58 | |
Zﬁﬁg#/L J\PAEQE L L5 | L6 Ziﬁg#/L J\Pééﬁl
50 770 50 50 770 50
795 450 870 450 2730 450 870 450 795
1680 4500 1680
1 -1
440
3
g s3——al2
50//340/ 50
BT iE
al2 = (avs)—rEEEELY) = 0.1014 m?
A &
L5 = 7.860 — 0.450 x 4 + 0.459 x 4
— 0.770 x 2 = 6.356 m
L6 = 7.860 — 0.770 x 2 = 6.320 n
1) =
Al = ( 0.1014 + 1/2 x 0.340 x 0.090 ) x 2 = 0.233 m
2) ER
A2 = 1/2 x ( 6.356 + 6.320 ) x 0.340 = 2.155 m
3) &t
a) 17rHyY
A= A 4+ A2 = 2.388 m’
b) &%
SA = 2388 x 2 = 4.776 m
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1.7-4 #5084 (S8) N=" 2 #%FD

7860
M
| |
[ [
N L6
710 770
1680 4500 1680
1 -1
440
8
8 B als
501340, 50
BT iE
alb = (aAvsy—rHEREELY) = 0.1320 m?
A &
L6 = 7.860 — 0.770 x 2 = 6.320 m
1) =
Al = 0.1320 x 2 = 0.264 m?
2) &%
A2 = 6.320 x 0.340 = 2.149 m
3) &t
a) 17YyY
A= A 4+ A2 = 2.413 m
b) &%
SA = 2413 x 2 = 4.826 m
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1.9 88

1.9-2 Ak
_ 17z Y

BOE | o T BEH

D19 D16 D13 &t D19 D16 D13 &t
S1 20 | 105 28 | 133
S1-M 17] 1051 231 161 144
52 7| 105 28 | 133
s3 3| 105 121 117 161 16
S3-M 1] 105i 23 128 161 16
SH3 17| 53 121 65| 53 16| 69
sH3-M_ | 12| 53% 23 76 | 53 161 69
SH4 1 53 121 65| 53 161 69
S5 31| 105 20| 134
S5 | 23| 105 221 17i 144
sHe 1 53 121 65| 53 171 70
SHe-M 1 531 2 75| 53 171 70
S7 1] 105 301 135
SH7 1 53 30! 83| 53 53
S8 2| 105 301 135
a5 138 _
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EaE

1E4Y

N LESE B
D19 D16 D13 &it D19 D16 D13 &it
s1 2100 560 | 2660
S1-M 1785 1 391 | 272 | 2448
52 735 196 | 931
$3 315 36 | 351 48 48
S3-M 105 23 128 16 16
SH3 901 204 | 1105 | 901 272 | 1173
SH3-M 636 | 276 912 | 636 192 | 828
SH4 53 12 65 53 16 69
S5 3255 899 | 4154
S5-M 2415 | 506 | 391 i 3312
$6 53 12 65 53 17 70
S6-M 53 22 75 53 17 70
ST 105 301 135
SH7 53 30 83 53 53
58 210 60 | 270
ast | 12774 1 1218 1 2702 | 16694 | 1749 578 | 2327
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.11 EL2)L ( BIEEILZIL )

V= 0030 x ( 070 — 0.040 )
x (1 277.725 — 0.900 — 0.850 ) x 2 #r
+ 0030 x ( 0770 — 0.020 ) x 0.560 x 2 #f
+ 0.030 x 0.770 x 0.320 x 2 #r
+ 0030 x ( 0770 — 0.020 ) x 0.510 x 2 #f
+ 0.030 x 0.770 x 0.320 x 2 #1
+ 0030 x ( 0.320 — 0.040 )
x 1.225 x 2 @ x 2
+ 0.030 x 3730 x ( 0.900 — 0.040 )
+ 0030 x 3.730 x ( 0.80 — 0.040 ) = 12.393
1.12 BPe44 (NUFHER; 20x30 )
L = (277.725 — 0.040 — 0.320 — 0.320 ) x 2
+ (277725 — 0.040 — 0.880 — 0.830 ) x 2
+ 0730 x 2 x 2
+ ( 1.245 — 0.020 ) x 2 x 2 8l x 2 i
+ 0.280 x 2 @ x 2 i = 1119.880 m
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3. HiEFEET - B KEET
SRRAEMT - $2RT
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R E T -HKEET -BRAMEMT - BIRT HEKFHK

H H B H = HO®
P2 & 2
P3 & 2
P4 & 2
X&
P5 & 2
P6 & 2
A2 & 2
R FEIREEEILZILEKE m3 4.008
P2t m 7.350
TR BERE
HiEEE A2t m 7.350
BEE N/ AN— 4 4
EE m 551.35 | iR E (Dr3~Dr12) &
SHRHEKE
HEILAIL m3 3.796
BE m 44.106
VP200A e & 12
mIE & 2
HOKEE BE m 0.640
VP25A
mIE & 2
E1 & 8
HiEeE
E2 & 2
Viryk & 2 |VP25AF
MHER m 84.969
KIREIRA4T & 2 |7LEY 7 WF1-7 ¢ 20 : 3.8m
AV =b7 A= Wk & 168
FETRER kg 13311.3 |7 /L&
TETIRER |P3 kg 821.0 |[7JLS&
P4 kg 933.9
P5 kg 855.1
P6 kg 881.8
A2 kg 7785
A&t ke 4270.3
B2 EEM I TR m 410. 555
PARE T 2
iR T BAR " 4
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4. BEEEhH/NN— SUS304 2 &%
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4. BEEEh/NN— SUS304 2 &%
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BEKEE

1) SHELBEKE

2) VP&
EE 200A

EE 25A

HE 200A

MIE 200A

JNITE 25A

3) avh)-rrun-iE b
M16%125

ER

HEEILZIL

o Ol A~ W N —

R1
RS

R1
R2
R3
R4
RS
R6

T

T2

13

225x210  h=50

izt
551.350  x

000
139
522
022
070
400

NS
xX X X X X X

0.200
0.120

581
459
459
. 391
082
205

W oW w W w
xX X X X X X

k=

1. 571
1.342
0. 837
0. 426
0.733

X X X X X

k=

1.244  x
0.150 x
k=
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Bz
0.030

— N N N N oo

N NN DN DNDN

—_
N[— m m a
N

N

fi&

fi&

U=

X 0.2295

551. 350

3. 796

24.000
5.478
5.044
4.044
4.140
1. 400

44.106

0. 400
0. 240

|3 38 3 3 3 =3

0. 640

1.162
6.918
6.918
6. 782
6. 164
6.410

40. 354

1. 571
1.342
0. 837
0. 426
0.733

|3 38 3 3 3 =3

4.909

2.488
0. 300

|3 38 3 3 =S

2.788

168



3)

4)

5)

6)

7

feRiEie F

Vv bk

FRIDEELR (200A)
VPE EE
VPE BT
VPE MIE
A)y—7

FRARKIRE N T

H)-rruh-K b (TFERER)

S6 .  HEH
ST: HlEH
S8  HEH

E1
E2

25AH

-0. 200

SD1
SD2

32

_32_

22

4 X/@EFR
4 X/&Em
4 X/@EFR

44.106
40. 354

4.909
-4.400

ER

3 3 3 3

84. 969

128 {&
36 {&
4 &

168 {&



% T ¥R AT

P2~ A2fH
E=1 ]
& T LA
3200 + 272000 + 1905 + 10245 = 287350 mm
=1
& TR LA
85205 + 38000 = 123205 mm
AEER 410. 555 m
FiBE
P2~ A2fH 2 &
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B2k

BaWR 4.000 &

AHIES 4%

_34_



4. BT (BEEH)
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BT (ESH) BERR

2 g = Tt ==X va # = fis =
avs =tk | ookeoan/m? |BHEE | m 141.21 | Jer3R#H
RSB REEH v 66. 00 "
B B m” 1333.5
%g D16 ke 4157
T % SD345 D13 " 16735
&5t " 20892
Bl R R0k £=20mm m” 10.5
o — )L s)ark Iy My 92.6

F) REMKEEDI I — MIFAR)TOEL U ERMEERET %,
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BERIBEE

1400 <1490>

ZHELR GmEp> iR E XM
455 455
250 80 125 o 250 _80 125
4z 4 Z
| [
\ \ S8 o
Ll e A g
o } l\ i o
,ooj } al | §
! ® S
P 2
| I~
A |
55 s g
L Reg
150
M EAE
al = 1/2 x 0.250 x 0.010
+ 1/2 x ( 0.250 + 0.330 ) x
+ 1/2 x ( 0.330 + 0.455 )
4+ 0.455 x 0.110
a2 = 0.35611
— 1/2 x ( 0.110 + 0.290 ) x
a3 = 0.3261
— 1/2 x ( 0.215 + 0.290 ) x
ad = 0.150 x 0.310
ab = 0.150 x 0.400
B &
L1t = 0.794 + 0219 + 0.110 4+ 1.400
+ 0.150 + 0.050
L2 = 0794 + 0219 + 0110 4+ 1.490

+ 0.150 + 0.050

_3 7_

B HE K SR B B
455
250 80 126 -
A
L
| \ ol o
| R E
| o .
s 8 | \
?r_’ e } a2 |
v \ S
1R,
- |
o8 ‘4 A
=S cas
L K8
150
0. 790
0. 180
= 0.3511 m
0.125 = 0.3261 =
0.075 = 0.3072
= 0.0465
= 0.0600
= 2.723 m
= 2.813 n



RIS
FIEARBEER =
ImER-RIFE R R =
EALE-RIExR =
TEM-FEXEK =
R REB-RITE R =
MSBEKBERR-REREK =
BEEHEER =
RER-BE =
MBBKER-BE =

A RIS
FIEAREEER =
InER-RIFE AR =
KALER-FEX R =
RER-RERAE =
R REB-RERER =
MBBKBER-RFERNEK =
BEEHER =
AR B =
KR EE =
RER-BFE =
R REB-EE =
MBBKER-BE =

2.1 avy1)—¢ (

2.1-1 BHEERH

( 0.3261
0.3072 x
+ 0.3511
0. 3261
1/2 x
0. 0465

vl =
v2 =

+ + +

_38_

28.925 + 30.000 4+ 28.800
3.755 4+ 3.630

0.340 x 2

87.725 — 7.385 — 0.680
0.350 + 0.350

87.725 — 0.750 — 1.300
211.725 — 81.1725

28.925 4+ 40.000 4+ 20.000
3. 755

0. 340

88.925 — 3.755 — 0.340
0. 350

88.925 — 0.750

277.725 — 88.925

3.630

0. 340

188.800 — 3.630 — 0.340
0. 350

188.800 — 1.300
ock=24N/mm* ) . RAEH {3
+ 0.0465 ) x 190.000

0. 350

x ( 1.300 — 0.350 )
x 187.500 + 0.0600 x 3.630
( 0.0600 + 0.0465 ) x 0.340
x 184.830

817.1725
1.385
0.680

19. 660
0. 700

85.675

190. 000
190. 000
190. 000

88.925
3. 755
0.340

84.830
0.350

88.175

188. 800
3.630
0.340

184. 830
0.350

187.500

10. 794

10. 415

"

1/

"

1/

"

1/

"

1/

1/

"

1/

"

1/

"

1/

"

1/

"

1/

"

141. 209



2.1-2 FEREHE (R TOELUEHEZES

vi = 0.3072 x 0.700
+ 0.3511 x ( 0.75%0 + 1.300 — 0.700 )
+ 0.3261 x 85.6/5 + 0.0600 x 7.385
+ 1/2 x ( 0.0600 + 0.0465 ) x 0.680
+ 0.0465 x 79.660

v2 = 0.3072 x 0.350
+ 0.3511 x ( 0.75%0 — 0.350 )
+ 0.3261 x 88.175 + 0.0600 x 3.755
+ 1/2 x ( 0.0600 + 0.0465 ) x 0.340
+ 0.0465 x 84.830

32. 811

33.190

~

!

2.2 B¥

Al = 2,813 x 7.385
+ 1/2 x ( 2813 + 2723 ) x 0.680
+ 2,723 x ( 79.660 + 190.000 )
- ( 0219 + 0.110 )
x ( 0.700 + 85.675 + 190.000 )
+ ( 0.3072 + 0.0600 ) x 2

A2 = 2813 x ( 3.7 + 3.630 )
+ 1/2 x ( 2813 + 2723 ) x 0.340 x
+ 2,723 x ( 84.830 + 184.830 )
- ( 0219 + 0.110 )
x ( 0.350 + 88.1/5 + 0.350 -+ 187.500 )

( 0.3072 + 0.0600 ) x 2

66. 001

666. 747

666. 747

~

!

2.3 #XFh ( SD345 )

D16 4157 kg
D13 16735 kg
aEt 20892 kg

_39_
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455 R f& B b

250 80 125 -
1
- ol O
o 27 ¢
S o~
w{ﬂg > 7 ;
%‘ (t=20mm
S
s 8
~ %/% Vo b
AL
8 A 2 0
= (yarvxk)

L — -

(HELY) REBEHRHK N = 27 4@/Fal

2.4 BEERFEAA  ( t=20mm )
a = 1/2 x 0.210 x 0.010
+ 1/2 x ( 0.210 + 0.290 ) x 0.770
0.1936 m
A = 0.1936 x 27 x 2 = 10.454 m’

2.5 —IL# (¥Jarzk)
vi= 1/2 x ( 0060 + 0.020 ) x 0.020

= 0.0008 m
v2 = 1/2 x 0.040 x 0.020 = 0.0004
V = [ 0.0008 x ( 0.794 + 0.250 + 0.800 )

+ 0.0004 x 0.600 1 x 27 x 2 x 1000 = 92.621  Yybb
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5. BREZT - R/EXT - R&RT
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BRERREL

@Rk Y B € R 15 (3EFT)

KEMEE:816 m

XER:2780m

REEFR B8 f miE
(m) (m) (m2)
SRESEHE O 8.16 21.5 175.44 } 370,44 (i
HBEHE Q 8.16 25.0 204.00
HEHEQ 8.16 205 167.28 (E:&E
BEt 67.0 546.72
ORIET (FARRE+FERIE+EEE)
A=BEx2IEE
A=278 X 8.16
A = 2268.48m2 (A ®HE 546.72 B 1721.76 )
O EYKIE
BB me BEER B
(m) (m)
P2¥E il 3.29 P515 il 2.80
P3¥E il 3.37 P65 il 2.84
PAYE Rl 3.30 A21B & 273
N F 9.96 N § 8.37
& F 6 ERT F 1595 (m) 3.1 18.33
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PCER kR

(2)B=

sk T
R 4 W SREE

(m2)
ZERR Al 2 26.10
A1-M 3 39.14
A2 11 143.52
A2-M 3 39.14
B1 4 52.19
B2 9 117.43
B2-M 3 39.14
G 1 13.05
H 1 13.05
ZHERR-2 A1-K 1 13.05
A2-K 1 13.05
B2-K1 2 26.10
B2-K2 2 26.10
ZHERR-3 C1 4 50.78
D1 3 38.08
D1-M 2 25.39
D2-M 1 12.69
E-M 1 12.69
F 3 38.08
ZHERR-4 C1-K 1 12.69
Cc2-K 1 12.69
E-K1 1 12.69
E-K2 2 25.39
ZERR-5 D3 1 12.87
D4 1 12.87
Z#R-6 D3-K 1 12.87
SRR I 1 13.05
SRAEERR-2 J 1 10.69
I ERAR-1 K-H 1 13.79
Ui S ki -2 L-H 1 15.17
EEEaH)—+ - 188.97
&5t 69 893.54

A W miE

(m2)
Z AR Al 9 117.43
A1-M 4 52.19
B1 13 169.62
B1-M 2 26.10
ZAER-2 A1-K 4 52.19
ZARR-3 c1 6 76.16
D1 5 63.47
D1-M 5 63.47
E-MH 3 38.08
F 5 63.47
Z A hR-4 C1-K 4 50.78
E-K1 1 12.69
E-K2 4 50.78
ZAERR-5 D3 4 51.48
ZAhR-6 D3-K 1 12.87
EEEaH)—+ - 199.62
&5t 70 900.78
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EEfHEE HESBEE

(RIBHHD 5. BRI

13.05
52.19
13.05

39.14
13.05

13.05

13.05
13.05

10.69

15.17

26.10
26.09
91.33
26.09
52.19
78.29
26.09
13.05

13.05
13.05
13.05
13.05
50.78
38.08
25.39
12.69
12.69
38.08
12.69
12.69
12.69
25.39
12.87
12.87
12.87
13.05

13.79

it

(BEHHTHD 5. BRI

195.49

698.06
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kR /% T

& PR
HetEdt
B
i AT 1.524mX< 6. 096m | 1.524mx 3. 048m EQ%E% Ezt;%
(Ko (1. 604t/#0) | (Ko (0. 802t/4%)
@ 12 111.5 19. 248
@ 18 6 195. 1 33. 684
© 12 111.5 19. 248
@ 12 111.5 19. 248
® 12 111.5 19. 248
3 66 6 641. 1 110. 676

= N ¢§§§> Y@ 124%-1. 524mx 6. 096m=111. 5
ONE S35
1. 524m X 6. 096m 12 # 111.5 m2
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RIEHNQ  (PAfHD)

2 184%—1. 524mx 6. 006m=167. Irrii Pk
64%1. 524mx 3, 048m= 27, Onrif%
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\\\ /i\}@ K’Z‘n
@ xR
1. 524m X 6. 096m
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@ 12481, 524m x 6. 096m=111. 5rrf/
el

167

.2 m2

27.9 m2

195. 1 m2

111.

5 m2
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12 %
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111.

111.5 m2

5 m2



6. BIsEREKT
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BB REMT HKEtR

Ex i | B = 3 B{r # = & =
S e, s 3 &
RSB REREH| o 47.80 "
U m” 4.13
%g D16 e 2565
=i " 12738
B R Ak £=20mm m? 6.6
S — L# yarxk 1y b 58.9
) FEAEGEOaLY Y — MIERY FOELVESEERAT AE,
EE m 1.205
S B HEK
B HEKE BTG | ma 0,007
EE m 19
VP200A e & 3
HE mIE & 1
Z}i EE m 0.12
= VP25A :
B MIE & 1
BEE E1 & 5
KEiT)LAR & 1
PSR m 13.926
2ZAUFHEEER m 6. 724
g Al ke 585. 4
B BRERES P1 kg 848. 2
BT P2 ke 156. 5
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BESWIHEHES

feiffa 2k B X

455
250 80 125

0

y6L
790
1000

a3 |

15_

L ~
N

150 J

I) MMARICKESEEFIEATHEHREINSHEELAL,

1090

Ny
by

215_75

320

1410

a3 = 0.3261
— 1/2 x ( 0.215 + 0.290 ) x

ab = 0.150 x 0.320 = 0.0480 »

L2 = 0.794 + 0219 + 0.110 + 1.410
+ 0.150 + 0.050 = 2.733
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ERIESHE

REE = 0.755 m

AR S

0.755 m

%'I'I.I

i

o
I
I

2.1 avsy—k  ( ock=24N/mm’ ) ; B3R
2 1-1 WEEHE

0.536 m

V= 2x ( 03072 -+ 0.0480 ) x 0.75
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2.2 R

A= 2x 2733 x 0.755 = 4.127 m2
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BEKEE

1) SHEHBEKE

LR 25010 hss0 82838 m

225x210  h=50 1.205 m

R Ea 18
METLSL 82838 x 0080 x 02205 0570 m

1.206  x 0.025 X 0. 2295 0.007 m3

&t 0.007 m3
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P2iEH THMIRETHH=E

2 #5¥B 7000. 0 1 -
> =|-189-0 ke | 64.2
G BFHRT—
RAT—= 2400. 0 11 32,14 77.13 11.1
2 75479k 989. 0 1 15, 20 15. 2

P2ERERMEES

400 -

4—§r¥4.—'6—kg

_55_




7. BEI (A2)
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T fill fill il Al il j50 B | AL B i | A

BomE T KB M t = 200mm | p* 83,4 | 16.7 m®

¥jLav)y)-1au t = 100mm I 3.9
#Lav))-} 0 =18 N/mm*| 83.4 | 8.3 md

WK T | AR 1R AR — m’ 76.8

AR I ) 93.6

1% B N i 96: 1

TRIEE Je O~ F N i 161.7

INT Ry b ) ) 48:i 0

e N i 11.5

Y4 I ROANSTF ) U 89:4

B = N i 59i6

&t I 636.7

2R HIBERH O | — B I 610

LT oo b | — AR I 7.5

X {427 = 1R ERR 0 =24 N/mn’| n® 183.0

HijEE N i 95:7

1% B N i 55i1

TREE R OV~ F U U 66. 3

NT Xy k /] Ui 156

e N i 3.7

Y4 I RONSTF ) U 21.6

HE = 1R " ) 8.8

&t I 4498

2% MBEBI O | 0 4=24 N/mm*| 2.1

T 5%y b |0 4=36 N/mn®| 1.4

B 2 A 0 4=24 N/mm*| 0.5

aEt U 1.9

_5 7_




(8) BE = Al

4-3. BRI T (NTy b, BESH)

Al = 0.31 + 0.31 + 0.22 X 8.16
A2 = 0.22 X 7.25

| 20| %10 |

A3 = ( 1.23 + 0.79 + 0.22 + 0.03 ) X 0.80 X 2 =

74 7N K HPER
— M = —1/2% ( 0.12 + 0.11 ) X 0.40
—1/2x ( 0.11 + 0.12 ) X 0.40

2.4 m
1.6 m
3.6 m

-0.1 m

NTZXy hEA =

7.5 nm®
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5-3. EFE e

1) XXy~ (0ck=36 N/mm2)

V = 0.22 X 8.16 X 0.80 = 1.4 o
(2) BEEM (o0ck=24 N/mm2)
V = 0.31 X 0.80 X 2 = 0.5 m’
6. & @
B IX & 0
( SD345 )
e Ba s T N =
i bl AL Tk 2 %K = E (=} i
D10 kg 6 6 6
D13 /U 1 531 5 1 536 1 536
D16 I 10 786 62 10 848 10 848
D16 D19 I 3 927 3 927 3 927
§ D22 I 1 704 1 704 1 704
D25 D25 I 5 756 5 756 5 756
=} ] 22 173 62 22 235 = 22 235
D29 D29 I 520 520 520
§ D32 I 1 083 1 083 1 083
D32 il I 1 603 - 1 603 - 1 603
D35 N _ _
D38 N - _
s =} ] 25 313 67 25 380 = 25 380
D16+D16 | » Ft 56 56 56
AT | D19+D19 | » - -
Gl n 56 - 56 - 56
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B110.

N5~y N (LB T %

1)

Al @
8160
455 7250 45
—hl - =
R ‘ < < e
= : = =
\
H
8160
455 7250 45

1230,
20 ‘
\
0
2
|
0
\
200
1230

T @
ﬁﬁ@ 7250 54‘5%
Il (=
5=0.51 m?
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oy
R

i

T WEK=®
17 H BifL = B O®
TRAI7 IV t=80mm m2 2013.506
SET FAEIDY)—F t=61.3mm m2 624.88
FAEIY)—F m3 38.274
mSE o—h% m2 2098.552
FRhRHEIK /AT 1@ 2 [BEKITE EFH
RARFAEK/1T 18¢ m 567.250
BEKT
R B A TR m 552.950
ILFX LT NFa—T m 3.800 |20 HEKT TEtEFEH
fEOTAUR 1& 8 |7LF LI INFa—T A
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T

FEID ) — MEIR
BHE#p

277.725 x 2.250 EHEEE=  61.25cm = 624.88 m2
277.725 x 2.250 x (  0.050 + 0.073) / 2 = 38.274 m3
8160
455 2500 2250 2500 455
1125 1125

7x77»h%£

o

T e T

—
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